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B E (WY 7 1)

NEAL K 4 ouT I N A= S ESAN
41 HH =M 36 43 79 2.8 76. 2
42 | BB ¥ 36 49 85 8.8 76. 2
43 | T HIET 36 47 83 6.4 76.6
44 | BB 36 46 82 5.2 76. 8
45 | BiEFRZ 36 46 82 5.2 76. 8
46 | )R 36 52 88 11.2 76. 8
47 | EE ] 36 45 81 4.0 77.0
48 | FH F1 36 57 93 16.0 77.0
49 | MREACENR 36 49 85 7.6 77. 4
50  HHAMF 36 49 85 7.6 77.4
51 HYP 2 36 55 91 13.6 77.4
52 | [ Bk — 36 55 91 13.6 77.4
53 | PHHE R 36 55 91 13.6 77.4
54 | AR 36 48 84 6.4 77.6
55 | FFIi A1 36 48 84 6.4 77.6
56 | Ak 36 59 95 17.2 77.8
57 | h EFE 36 57 93 14.8 78. 2
58 T FHik 36 54 90 11.2 78. 8
59 | A #FEil 36 52 88 8.8 79.2
60 | 7 H = 36 56 92 12.4 79.6
61 | & HYGTE 36 56 92 12.4 79.6
62 | L% BLE 36 55 91 11.2 79. 8
63 | HRASFNIE 36 55 91 11.2 79. 8
64 | EPERIE 36 63 99 18. 4 80.6
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S 2 a7 (84.2)
LML= S EERA = SRR =

NEAE K 4 ouT I N V=0 SN Xk
1 HrHEAEE 36 38 74 2.8 71.2
2 EBFIEFN 36 42 78 6.4 71.6
3 | Buf— 36 48 84 12.4 71.6
4 EEICE 36 47 83 11.2 71.8
5 WEEH 36 39 75 2.8 72.2
6  EAILIE 36 43 79 6.4 72.6
7T ORESE 36 43 79 6.4 72.6
8 AT 36 43 79 6.4 72.6
9 | fAHERRR 36 49 85 12. 4 72.6
10 | FAARHET I 36 42 78 5.2 72.8
11 &EHEAE 36 42 78 5.2 72.8
12 | 78)I3%E 36 48 84 11.2 72.8
13 | AfEEAFD 36 41 77 4.0 73.0
14 | HATIE 36 41 77 4.0 73.0
15 FipEZ 36 41 77 4.0 73.0
16 HH G 36 46 82 8.8 73.2
17 HATA 36 46 82 8.8 73.2
18 | EREE 36 45 81 7.6 73.4
19  AHT 36 44 80 6.4 73.6
20 KIMBEZE 36 50 86 12.4 73.6
21 EHRE 36 43 79 5.2 73.8
22 | R M 36 49 85 11.2 73.8
23 EILE— 36 48 84 10.0 74.0
24 | REM 36 48 84 10.0 74.0
25 AREEZ 36 41 77 2.8 74.2
26 | AfESL 36 41 77 2.8 74.2
27 | RBIMRF 36 47 83 8.8 74. 2
28 )l =% 36 45 81 6. 4 74. 6
29  HiRAET 36 49 85 10.0 75.0
30 REH—K 36 55 91 16.0 75.0
31 FEEL T 36 48 84 8.8 75.2
32 | TRIRIETR 36 48 84 8.8 75.2
33 RIEFIMR 36 54 90 14.8 75. 2
34 BpedH VEHL 36 47 83 7.6 75. 4
35 | HrHKE 36 46 82 6.4 75.6
36 | ki 1T 36 46 82 6.4 75. 6
37 | e 36 45 81 5.2 75.8
38 | VHEME— 36 51 87 11.2 75.8
39 MIIFAETF 36 51 87 11.2 75. 8
40 HBAR FHHR 36 51 87 11.2 75.8
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